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1. What deceleration occurs when a 1500 kg car experiences a braking force of 500N?










(2)
2. A Saturn 5 rocket consumes 300 kg of fuel per second when it is launched. Use Newton’s Laws to explain why the rockets acceleration increases with time.


(2)
3. A bike and rider have a combined mass of 90 kg. When the brakes are applied the bike, travelling at 12 ms-1  , comes to rest in 4 seconds. What was the braking force applied?










(3)
4. The following questions refer to a 1 kg and 10 kg mass released from the same height at the same time: Circle the best answer.





(3)
I. Which has the greatest force accelerating it?

1 kg

10 kg 

both are equal 

II. Which hits the ground first? (Ignore wind resistance)

1 kg

10 kg 

both the same 

III. Which has the greatest acceleration?

1 kg

10 kg 

both are equal 
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